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Score

In a class room, there are 20 girls and 35 boys. What is the ratio of boys to girls in a class.

a) Whatis the ratio of boys to girls? [

b) What is the girls to total students? [

The ratio of oranges to strawberries is 6 : 7. If there are 49 strawberries, then how many oranges
are there?

Linda has three types pet animals like parrots, dogs and hens in the ratio 2: 1 : 9. The total number
of pet animals are 36. Find the

Number of hens

Number of parrots O Number of dogs ©

The ratio of green balls to red balls is 4 : 11. Find the total number of balls if the number of red balls
are 44,

Mr. Martin share the amount $144 between Mary and Linda in the ratio 5 : 7. What will be the
share of Mary and Linda?
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